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SSC PART-lI (10th CLASS) R
COMPUTER SCIENCE (NEW SCHEME) (SESSION 2015-17) (¢ 2) St
GROUP-I U - g/
TIME ALLOWED: 1.45 Hours SUBJECTIVE _¥L» 45 =
MAXIMUM MARKS: 40 a0 = A

NOTE: - Write same question number -q_t'/uuf;.{.élrﬁé: b/)/.‘.}ZMHJ!rG:{Q iz ad

and its part number on answer book, as given in the question paper.
SECTION- sl

2. Attempt any four parts. 8=2x4 - fer LV 8 20
()  Define Algorithm, LIPS
(i)  Write two advantages of Flow-chart ML d (i)
(i)  What is meant by Reserved Words? tet Ve sunds (i)
(iv)  Write the purpose and syntax of Auto command. .u.‘f,.s;.,. #AU Auto  (iv)
(v)  Write the type of control structure. -.,Cf'u'lJ,( AU W)
(vi)  What is meant by Transfer of Controi? e e LU (i)
3. Attempt any four parts. B=2x4 -é{fa&uélzuyc_él 34
()  What is meant by DIM statement? el DM ()
(i)  Write names of types of Array. L oS i
()  How would you fil the Array? LI F A )
(iv) Define Numeric Functions. S e
(v)  Write the purpose of INT Function. A INT ()
(vi) Describe the use of Gosub — Return statement. -quydﬁ'll’.-;z’ Gosub -—- Return  (vi)
4. Attempt any four parts. 8=2x4 < fe e lizupe 4y
()  Whatis meant by Resolution? Sedplacihys )
(i) In BASIC how many Graphic modes are there? v,«.a’;,;a’;mﬁ/‘;.c; (i)
(i)  What is meant by SCREEN statement? tesipfe e’ SCREEN (i)
(iv)  Whatis Menu bar? S (iv)
(v)  Whatis the difference between Save and Save As? ‘e JM/ L Save As » Save  (v)
(vi)  Write names of different views of MS-Waord document LA Ly BIL sl B LR (i)

SECTION-II (1.0

NOTE: - Attempt any two questions. 16 =8 x 2 el et §f i

5.  Whatare Errors? Describe its types. Lk S -5

6.  Define Variables. Explain Numeric Variables B EETEH S8 SRR B P R D) | 150
and String Variables.

7. Define Loop. Write note on different loops in BASIC. BV BUNLS TR AN 4 | O I
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GROUP-| b - orf

TIME ALLOWED: 15 Minutes OBJECTIVE (&0 w15 = o

MAXIMUM MARKS: 10 10= AF
A b SARI I SL ot o £ NIz o i YR B L D 1l € B A st2Byg Ly )

4zl -fi—‘rk'\ﬁ’/.dib::-d‘\;Lﬁé I{lt}h e AR ST Sk e L.‘Ugu’w:}h-{l <&
Note: You have four choices for each objective type question as A, B, C and D. The choice -;{f;Jﬂ}.-_ Ll
which you think Is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question, Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A A

(1) possible sclutions are there for a problem -u_.'J'dr’_LJ’/.{' (1)
(A) One i (2) Two s (C) Three £ (D) Multiple (§”

(2) Typographical errors in BASIC statement are- -u_?JUrfum(.ﬁ,'Mc/"f’J_e (2)
(A) Runtime errors 2/1/te) (B) Logical egrors i\ K
(C) Syntax efrors Ju/l e (D) Executon et 1/

(3) _____short key is used to run a program in GW-BASIC. aﬁ,wnJ..p - éLle(V:{\AJ}.:Ud (3)
(A) F1 (8) F2 (C) F3 >(D) F4

(4) ____ operators has the highest precedence. SpdFrlicwrd @)
(A) A (8) * (C) + D) = .

(5) FOR — NEXT is used to implement- LI FOR—NEXT  (5)
(A) teration &.L4F  (B) Selection &L ¥ (C)Sequence L. L7 (D)AN ¥

(8) The statement x (30) will reserve — memory locations. <A x(30) ¥ ()
(A) 29 (B) 30 (C) 31 (D) 40

(7) Dimension statement uses the keyword —. bt L W)
(A) DM (B) DIM (C) DS (D) DMS

(8) The output of a funclion INT (~5.7) is- e INT(=57) B )
(A) -4 (B) -5 (C) -6 0) 5

(9) The set of colors RED, GREEN and BROWN is given in:- cVorbubesunz &y (9
(A) Palette 0 (B) Palette 1 (C) Palette 2 (D) Palette 3

(10) Ctri+Y is used for- -t Cii+Y  (10)

(MUndo L35t (B)Find &£ LE 378 (C)Pagebreak &L {42+ (D)Redo L Lsis

38(Obj)( 77)-2019(A)-17000 (MULTAN)
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GROUP-I b = s/
TIME ALLOWED: 1.45 Hours SUBJECTIVE Lo 145 =
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NOTE: - Write same question number .q.blnﬂg.{,élr.ﬁzg{ EJ)A'ZJ)’/,;J‘J’GI{QKQQ aukid
and its part number on answer book, as given in the question paper.

SECTION-l JiLe

2. Attempt any four parts. 8=2x4 .gﬁ-.'(/’:.gm:lzuyc.éf 24y
(i Define Flow Chart. JAaAed )
(i)  What is meant by "o analyze the problem™? Sealple tLfke iy
(i)  Write a procedure to save a program in GW-BASIC? UL AP S b CbsE (i)
(iv) Write purpose and syntax of NAME Command. LSl IS NAME (i)
(v)  What is meant by unconditional transfer of control? e Al ()
(v) Define Loop Variable ~EaMiped i)
3. Attempt any four parts. 8=2x4 -zl 340y
()  Whatis One-Dimensional Array? eV “cd"FL )
(i) What is meant by sorting in Array? fes e Lt “an” (i)
(i) Define Array. LIRS A Gy
(¥)  Define Sub-program, LlafSe e ()
(v)  Write purpose and format of Fix function. -40.:.(154:&‘;'(:156 Fix (V)
(v)  What is meant by Numeric function? ¢ Tq.;‘/{fc.\;’a.f,d {vi)
4. Attempt any four parts. 8=2x4 L ferlizve 8 a0y
(i)  Define Resolution of Monitor, _.,).‘U.J,o/UJy‘szle'f (i)
(i)  Wite the purpose of PSET statement IS PSET (i)
(i)  Defina Word Processor Software. A s ()
(iv)  How would you Bold the text in Microsoft Word? ?z.’.q/fﬂzé O in.')n)?t.rf (iv)
(v)  Describe the use of Clipboard in MS-Word. LSS L I MS (V)
(v}  What is meant by Drop Cap? Se e Il ()

SECTION-Il fus

NOTE: - Attempt any two questions. 16=8x2 .g{(/’:.l,tzﬁc.wmc.éf Y

5  Define Algorithm. Write any six guidelines for L FARt ML L YIS ASAA s
making fiowcharl.
6. Whatis meant by Variables? LML I P e el 6

Describe rules of naming variables in BASIC,
7. Whatis Graphics? Explain graphic modes. Lol e A
40-2019-(A}-9000 (MULTAN)



PAPER CODE 2019 (A) 1 A
NUMBER: 3832 SSC PART-Il (10th CLASS) 27

COMPUTER SCIENCE (NEW SCHEME) (SESSION 2015-17) () Sond

GROUP-II b - .;,‘/
TIME ALLOWED: 15 Minutes OBJECTIVE L}fﬁ/y 15 = 2y
MAXIMUM MARKS: 10 10= AF

At f/l.‘)b”&b{.y&&ab;}: u:;ul{.&&béd'r/r{dﬁéll WILE D CBA @&‘dﬁaycd‘rx -bs
S22 KBRS 28 S rsis P reids b S S Tk | L Lidninie L s
Note: You have four choices for sach objective type question as A, B, C and D. The cholce PN & PR
which you think Is correct, fill that bubble in front of that question b On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER,

Q.No.1 A A

(1) Program upgradation refersto elre bl )
(A) Program Enhancement (§{/1/5; (8) Program Identification =3t2(f71/5
(C) Program Development th('/;g (D) Program Implementation leb’(lf:{

(2) The diamond symbol represents the:- e dberwlih;  (2)
(A} Input/ output 47 / o) (B) Decision making Sit-4d  (C) Processing 1/ (D) Remarks o/

(3) ____operator has the highest precedence. - cdFmiewi ()
(A) A (B) » (C) + (0) =

(4) The maximum length of a variable name in GW-BASIC is:- .(.5%o4kf(t£d"d_/:-{u~ér.‘.5-& (4)
(A) 31 (8) 32 (C) 40 (0)45

(5) Which of the following can not be used to EXIT from oSN e bl L8 e fubiny  (5)

an error handling routine?

(A) RESUME (B) RESUME NEXT  (C) END (0) STOP

(6) The statement x (30) will reserve —— memory Locations. O - x(30) o# )
(A) 29 (8) 30 (C) 31 (D) None of these (ZfA/e 2y

(7) Anelement of an array is mentioned byits o Cdlu_.'é'.fﬁlb'ﬁ-f:&ﬂ-_ﬁ (7)
(A)Subscript <A (B)AMay e (C)Object sl (D) Name of element < ¢tLof)

(8) LEFT$("Pakistan"3) = L ¢4z LEFTS('Pakistan'3)  (8)
(A) 'Pak (B) ‘PAK' (C)Pa (D) 'Kis'

(9) __ ofthe following is not a valid graphic mode command. eSS oy ©)
(A) LINE (B) PSET (C) COLOR (D) DRAW

(10) Ctr +Y is used for- b Cr+Y  (10)

(A)Undo &kl (B)Find L4274 (C)PageBreak L& (D)Redo Lo
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